1. A General, while arranging his men, who
were 6000 in number, in the form of a square,
found that there were 71 men left over. How
many were arranged in eachrow?

(@) 73 b) 77
(c) 87 (d) 93

. Anumber, when divided successively by 4,
5 and 6, leaves remainders 2, 3 and 4
respectively. The least such number is

2

1
. ffx V;)a =3, hen :
&i3.,1> {
V—=3) i r
(X 2 ) is equélfto |
(@) 3 (b) 2
©a o

(a) 50 (b) 53 /.;' 0.1¢0.1, 0.1v0.02, 0.02, 0. 2 |
© 19 (@ 214 /% 02,02, 027004, 0.04, 0,04 T
3. Anumbgr, when divided by 296, gives 75 as / ( 0_5'12 (b 0.25
the remainder. If the same number is divided @ 4.500 () .855
by 37 then the remainder will be ,{} :
(@1 b) 2 1. & 0 .
© 19 ) 31 44 9. IffXVx =2, thenthevalue fX Vi
4. The square root of ) Q{ ()2 b) 0
07517 Vi () d -2
i%o ;5 V,0.75(0.75)* V14 10. fx®+3x2+3x=7, thenxis qu lto
@) 1 ®) % - Y2 b 36
© 3 ()4 | ()1 d) -1
5 The sum and pr du¢ of two numbe sa e 2 5 1
1 and 35 respe tivily. Th sum of their ~ 11. If 2¥V—=1, then the value of ¥ Vx—s is
rec proc Iswillbe 4 =
1 1 )f 12 5 13 11 11 13
=3 = il -~ a) — — () — d) %—
@3.05 @5 @ Vs OF ©5 @7
N A L 12. The  greatest num
a-vbhiv— — 2
6. If \ 7 5, ,the t e aueof 2+101? NaNaNaNe
willbe ¥ b NG J
@1 ® 15 © ) o1 e = WWW.examrace.com
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13.

14.

15

17.

18.

. As opkee ersell

3(13.608)? %(13.392)? i equa to

(a) 0.6 (b) 0.06
© 1.8 ) 2.6
1 1 1 1
#.2°2.3°3. 4" 99 1005 qual
to:
1 99 100 1 00
@ 5900® 700 © 99 D o

Thesumofal th digitsofth n mbe sfrom
1to 100 is
(a) 5050
() 901

(b) 903
(d) 900
uge insuc away hat
th s llin piceo 9 Og fsuga isthe ame
asth os p iceofl1kgofsugar. hatishis
gain per cent?
A

@) 5 5 ® 5— (d) S e

ersonbou h ahorse and?1 arriag for
Rs 2 000. Lat r, he so d the orea 20
profita d he arria eat 0%1loss. Th s, he
g ined %inthewho et ansaction T ec st
pri eof the orsewas

¢ 5

(@ Rs. 7200 { b Rs.7500
(¢ Rs. 8000 " d) Rs. 90 0
Asll n rtiletoBa 15% rofi.B ell it
toC th%é)lss IfC aysRs.51 . Oforit
t enA purcha.ed itat
() Rs.500 #4 “ () Rs.750
(c Rs. 1000 F Y()Rs.12 0
. An rtceiss|ldatacert ifixedpic. y

2
~seling tat jof hatp ice,on los s1 %.

Th g inper len o selingitatth original
priceis

(@) 20 ®) 33%
20 d
05 ) 0

20.

21

2

/

23.

24

25

Aselsa articetoBforRs.4 ,0 01 sing
10% int etrans cton s llsittoC %a
prcew ichw ud have givena fo it of
10 toA.B wha ercentdoesBgain? ,

o100 20t 50
Th c st pric o an ar icle is 8 % of ts

m rked ric forsal . Howmu hp rcent

doe the trade man gain after 8ll wi ga
iscount of 12%4? .

a) 20 ® 2

(c) 10 # d 8

A merchan ha annou ced25% eb teon

price of read -m de arment att ei e

of sale Ifapu chas eedsto aveare ate

0 5 00 then h w many shir s, ach

cs s. 320, should he purchase?

@10 & ()7

(©) 6 d 5

Ame(‘ h ntpurchas sawristw tchforR .

45 and fixes it ist rceinasuch way

that a ter allo in a dscount f 10%, h

ea nsaprof to 20% Thenthelistp ic (i

rupees) of the wristwatch is

(a) 500 (b) 600

() 750 (d) 80

Ar du tio ofl % nt eprice ftea na les

adea ertopurc ase25 gmorete forRs

225 0. Whatis th re uc d price per g of

tea?

a) Rs.70 b) Rs. 80

¢) Rs.90 () Rs.10

Ra do ated4 o isincome oachariy
an d posted 0%o the esti aBan .I
now eha Rs. 8640 left with him, then his
ncome is

(@) R . 12,500
() R . 10,500

®) R . 12,000
d) s. 0,000

2 . I helength of a rectang eis ncr ase by

10% nd its bread h s decrea ed y 10%,
thenitsa ea

a) decreasesby 1% b) increases by 1%
c) decreases y2%
(d) re
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27.

28.

29.

30.

31.

32.

33.

() Rs. 4000 |

Three spherical balls of radius 1 cm, 2 cm
and 3 cm are melted to form a single
spherical ball. In the process, the loss of
material is 25%. The radius of the new ball
is

(a) 6cm (b) 5cm

() 3cm (d) 2cm
IfA:B=2:3,B:C=4:5and C:D=5:9, then
A:Disequalto

(@ 11:17 (b) 8:27

(©) 5:9 d)2:9

If the length of a rectangle is increased in
the ratio 6 : 7 and its breadth is diminished
in the ratio 5 : 4 then its area will be

diminished in the ratio
(@) 17:16 (b)15:14
(€ 9:8 (d)8:7

7 years ago, the ages (in years) of A and B
werein theratio 4: 5; and 7 years hence they
will be in the ratio 5 : 6. The present agi@- of B
is {

(a) 56 years (b) 63 yeaf‘g‘M i

(c) 70 years (d) 77 years

Two numbers are sufh that their
difference,their sum and their product are
in the ratio of 1 : 7% 24. The product of the
numbers is g °

(a) 24 (b) 36

(c) 48 (d) 60

A,B,Care péahrmers in a business. During a
particular year, A received one third of the
profit, B received one fourth of the profit and
C received th{ remaining Rs. 5000. How
much amount 6f money did a receive ?

(@) Rs. 1000 (b) Rs. 3000

(d) Rs. 5000

Three horses are tethered at 3 corners of a
triangular plot of land having sides 20m,
30m and 40m each with a rope of length 7m.

“The area (in m?) of the region of this plot,

which can be grazed by the horses, is
r

(;&Use/ 0 %i

f

34

35.

'

/

38.

39.

40.

77
@5 ®75 ©77 ()80
K
Awie,w enben in hef rm ofasllquar?,

n loses r gionof rea 21am? Ifthe
wireisb nt nto hef rm of ia circ e, thenth,

) 0 225
are ofth crcleis (VS 7}

a) 150cm2 b) 152 cm?2
c) 154cm2 | d) 159 cm
ther ti© fthe re flase toro acrcet

thear 4 ft e ir le s1 4 Ifthea eaof he
ci cleis 1&?4 cm , he erimeteroft esecto
is | J
(@) 20 cm

©

(b) 25cm
(d) 40 cm

6
. T eleg;:hoft edi go a ofa ubeis6 m.

T evoumeoft ecube (incm?)is

@ 1843 ®) 2443
() 83 @ 33

.Ifa p er ofrad usrisdivided in o four

dent cal parts thent eto alsu facearea f
thefou partsis

(@) 4 1? quare nit (b) 2/ r* square unit
(c) 8/r squar unit (d) /r?>sq areunt
Asumof mone ,de osited ts merae er
cent p r annum of compo nd int re t
double isel in years.I h wmanyye rs
wil i becom 1 ti esofit elfatthesame

rate?
(a) 16 ()1
© O d) 8

Wh t is th difference between he
¢ mpound interest and s mplein er st n
Rs. 000a 5% p rannum for 2 years ?

(@) 10 b 11

(0 2 (d) 00

The simple an ¢ mpou d ntere ts na
sum of one for 2 year are s.8400 and
Rs 86 2re pe tively. herate finterestper
annum is
(@ 6

www.examrace.com



I Solved Paper

41.

42,

43.

44.

45.

46

i
\

47

A man can row against the current three-
fourth of a kilometre in 15 minutes and
returns the same distance in 10 minutes. The
ratio of his speed to that of the current is
(@ 3:5 () 5:3

(© 1:5 (d)5:1

Two places A and B are 100 km apart on a
highway. One car starts from A and another
from B at the same time. If the cars travel in
the same direction at a constant speed, they
meet in 5 hours. If the cars travel towards
each other, they meet in 1 hour. What is the
speed of the car running faster ?

(@) 60 km/hr. (b) 50km /hr.

(c) 40km/hr. (d) 32km/hr.

A can complete a piece of work in 12 days. B
is 60% more efficient than A. The number of
days, that B will take to complete the same
work, is

‘l.

1
@6 ®7; ©8 (%8

Two pipes can fill an empty ta separately
in 24 minutes and 40 minutes respectively
and a third pipe can empty 30 gallons of
water per minute. If all the three pipes are
open, empty tank becomes full in one hour.
The capacity of the'tank (in gallons) is

(a) 800 (b) 600

(c) 500 ' (d) 400

A batsman, ia!his 12th innings, makes a score
of 63 runs and thereby increases his average
score by 2. Thé dverage of his score after 12th
innings is ?V L

(a) 41 (b) 42

(c) 34 ! (d) 35

The greatest number, that divides 43, 91 and
183 so as to leave the same remainder in
each case, is

(@) 9 (b) 8
© 4 d 3

T

7

. i 1t
J16 V647 w16 647 S €1 21

1 1
@5 ® 3

1
© 3

1
@ 3

{
48. he umof hear asof hel0squar s, the
leng hsof wh sesi es re20 m,21 my. ,
29 cmrespectiv lyis

(@) 6 85 cm?
(¢) 2 70 cm?

49. hesqu rer otof
9.5, 0.0085, 189

0.0017,. 1.9, 2.1

(@) 15
(C) 75 |I

(b) 8

-

gS cm?

(d) 11 25cm? |

IS|i

(b) 4
2

Y

.

5
5

1
-'r 50. If Zi V—'- 6, then 3x 5, isequalto

(@)
(©) 9

e —

F
F

(b) 8
()

2

1
1. If x": 1\/5%12%t en the value of

&1, 153
X° %—) i
Q le_ls

(@ 2
© 242

b) 2.2
d »

3 1 2 2 6 2
2 SRRV Ae Ve s

equal to

2
(@ e b -

1
© —

(0.87)° v(0.13)°

1
@ 5

53.

1
)5 ()2
54. If x2 +y? - 2x

(0872 (.1)Y%0.7

©

01 )1sequa to

()2l
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55.

56

57.

60.

61.

62.

601 ss, ewo 1 have ad aprof tof32%.

_(a) 2% ncrease

The largest among the numbers

V7 5,5 %3,/9 %7 11 %9 is

@) 7 %5 ®) 5 %3

© 9 %7 ) V1 %/

I[xV/ y3=z13te x+y- )P+ 7xyz
sequalto

@@ 0 (b) 1

© -1 d 27

If \J7 747.. 34371

t eny sequ lto

2
@3 b) 1

4 3
© 3 G
Ifa?=2,t en(a+1) sequa o 4
(@) a-1 b —oq -..\ | {

a%]:,i '

© 3 %24 @ S oma

. Themi sin terminth s qu nce2 3,5, ,

1,..17,19is -

@ 16 (O 15
© 4 @y
Thewr ng umber in the sequence
(@ 32 (b) 47
©6 4 @3

20 , hen mber of 'oyssold wa dec ease
by 5%. What
oft eshop?

W ent ep i€¢ ofia toy asinc eas d by
wg s ts ffectonthe ota sales

(b) 2% ecrease
(c) 4% ncrease (d) 4% decrea e

ersonso daho seatagain f15%. Ha
he oug titfor25% es an solditfo R .

T e ostprice of theho sewas
(@) s.370 (b) s.372
() s.375 ()Rs. 78

/

3.

4.

6

Jr|'r

6.

67.

68

69.

Asels narilet Bat ainof 5%Bsel
itt Cat ganof20 a d ell it o “at
aganofl %. fDpay Rs 330fo it h w
muc dditcosttoA?

7y
(@ s.200 b) s.250 {
() s.275 d Rsf 290 r
yselli ga aricl or s.21,aman ost

uch thatt e pe cen agel ss wa gequ 1to
th co tpr ce. The cos'priceo the arti lewa
(a) s.300rRs 7 (). s.350r Rs. 60

(c Rs®45 (q') s. 50

falf of 200 rtic esw resol ataproit f
20%an heres a ap of to 40%.Ifal th
arti les adb ensol a ap ofitof 5%,th
total pro,f t wo 1d ave been Rs. 100 les
thah ea/lie proit. T e ost price o each
artiflleas

@ RE10 . (b Rs.15

(c Rs.20, (d Rs.30

The tha k tpri e faclockisRs. 20 .lItis
obisol a Rs 2448 at two success ve
isc unts. If the f rs dis ountis10%,t en

these ond discount is

(@) 5% (b) 10%

() 5% d) 2 %

Adeaerma ks isgo ds 0%above is ost

p icean th nallows15 discou t ni.

Wha ist e os price f narticeon hic

he gains R . 847

(b) s.560

(a) s.800
(c) Rs.373.33 () Rs. 280

Ashop ee erw sh stogive5%com ission
n the ma ke price fa article utalso
a tsto ar ap of to 10% Ifhiscos pr ce

isRs. 95, th nthe marked p iceis

(@) s.100 (b) s.110

() s.120 (d) Rs. 130

rishn mur hyea ns s. 15000 permo th
a d pen s8 % fi.Dueto payrevisio ,
hism nth yincome asincreas db 2 %,
butduet p iceri e hehastos end 20%
ore. Hi new savi gsare
(@) R . 3400 (b) R . 3000
() R .46
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70.

71.

72.

73.

74.

75.

i
\

76.

Two numbers are respectively 125% and

25% more than a third number. The first
number is how much per cent of the second
number ?

(@) 90 (b) 87.5

(c) 25 (d) 12.5

Population of a town increases 2.5%
annually but is decreased by 0.5% every year
due to migration. What will be the
percentage of increase in 2 years?

(@ 5 (b) 4.04

(c) 4 (d) 3.96

72% of the students of a certain class took
Biology and 44% took Mathematics. If each
student took at least one of Biology or
Mathematics and 40 students tookboth of
these subjects, the total number of students
in the class is %

(a) 200 (b) 240 b
(c) 250 (d) 320

Rs. 1050 are divided among 'zé\, |iB and Cin

“— 2
such a way that the share of A is 5 of the

combined share ofB and'C. A will get

(@) Rs. 200 ¢ (b) Rs.300

() Rs. 320 (d) Rs: 420

The sides of aright-angled triangle forming
right angle are in the ratio 5 : 12. If the area
of the triangle is 270 cm?, then the length of
the hypotenuse is

(@) 39 cm i\ (b) 42cm

(c) 45cm (d) 51 cm

Two numbers|are in the ratio 5 : 6. If their
H.C.Fis 4, then their L.C.M. will be

“(a) 90 | (b) 96
(©) 120 (d) 150

1
Ma+b+c=1andab+bc+ca= gthena:b:
cis
(@ 1:2:2 (b) 2:1:2
(© 1:1:1 (d)y1:2:1

77.

78.

!79.
f
80.

81.

82

A and B enter into partnership with capitals
in the ratio 5 : 6. At the end of 8 months A
withdraws his capital. They recivedfprofits
in the ratio 5: 9. Binvested the capital for ,
(a) 6 months (b) 8 months

(c) 10 months (d) 12gmonths -
What is the length of the radius of the circum-
circle of the equilateral triangle, the length

of whose side i§ ¢,/3 cm ?

(@) 68 cm 4 (k{) 6 cm
é) 5.4 em (d) 3.6 cm

If the measure of a diagonal and the area of
a tectangle are 25 ¢cm and 168 cm?
res ecti.'s'/ely, what is the length of the
rec%n e?

(a) ﬁm (b) 24 cm

© 17em  J  (d7em

The ntimber of coins, each of radius 0.75 cm
and thickness 0.2 cm, to be melted to make a
right circular cylinder of height 8 cm and
radius 3 cm, is

(a) 640 (b) 600 (c) 500 (d) 480

If the radius of a sphere is increased by 2m,
its surface-area is increased by 704 m2.
What is the radius of the original sphere?

22
(f‘Use/ 0 23
7+

@1 m®bB1m(Elm (d 3m
Aright ircular ylnderiscircum cribinga

he isph re s ch th t the r bases ar
com on.T e atio ftheir volume s
(@ 1:3 (b) 1:2

(©) 2:3 d) 3:4

1
. Aman nves ed Zofhisca ita at7% — t

3 4
8%and ther manin at 0% rate of simple
i te est Ifhisannu linc me fromint res s
is s. 61,the capital nvested w s
(a) Rs. 60 0 (b) Rs. 56 0
(c) Rs. 66 0 (d)
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84.

85.

86.

87.

88.

89.

90.

“thatof Band Cis 19 and of C and A itis 21.

() 36 days

The compound interest on Rs. 6250 at 12%
per annum for 1 year, compounded half-
yearly is

(@) Rs. 772.50 (b) Rs. 772

(c) Rs. 672.50 (d) Rs. 672

A sum of money lent at compound interest
amounts to Rs. 1460 in 2 years and to Rs.
1606 in 3 years.The rate of interest per
annum is

(@) 12% (b) 11%

(c) 10.5% (d) 10%

If A travels to his school from his house at
the speed of 3 km/hr. then he reaches the
school 5 minutes late. If he travels at the
speed of 4 km/hr, he reaches the school 5
minutes earlier than school time. The
distance of his school from his house is

(@ 1km (b) 2km

() 3km (d) 4km

A train travelling with a speed of 60 Km fhr
catches another train travelling _ig:éhg"same
direction and then leaves it 120 m'behind in
18 seconds. The speed of the second train is
(@) 26 km/hr (b) 35%m/hr

(c) 36 km/hr (d) 63 km/hr

A and B together-ean complete a piece of
workin 12 days and B and C together in 15
days. If A istwice as goodlaworkman as C,
then in how many days will be alone
complete the same work ?

(a) 30 & (b) 25

(c) 24 4 % ()20

4 men and 6 w@men together can complete
awork in 8 days while 3 men and 7 women
together can complete it in 10 days. 20
women working together will complete it in
(b) 32 days

(c) 24 days (d) 20 days

The average of two numbers A and Bis 20,

W pat is the value of A?
(a) 24 (b) 22
(©) 20 (d) 18

Directions (91-95): The pie chart given below, shows
the expenditure on various items and savings of a
family during the year 2009. Study the pié chart
and answer these questions. r

PERCENTAGE OF MONEY SPENT ON VARIOUg’
ITEMS AND SAVINGS BY A FAMILY DURING 2009 I

' of Children
,"'4 12%
f Housing
! { 10%

| Food23% | Clothing

10%

J i
If the totalincome of the family for the year
2009 fwas Rs. 1,50,000 then the difference
between the expenditures on housing and
transport was

(@) Rs. 15,000 (b) Rs. 10,000

(c) Rs. 12,000 (d) Rs. 7,500

Maximum expenditure of the family other
than on food, was on

(a) Housing (b) Clothing

(c) Others

(d) Education of children

The savings of the family for the year were
equal to the expenditure on

(a) Food (b) Housing

(c) Education of children

(d) Clothing

The percentage of the income which was
spent on clothing, education of children and
transport together is

(@) 17 (b) 20

(c) 22 d) 27

. If the total income of the family was Rs.
1,50,000 then the money spent on food was
(@) Rs. 20,000 (b) Rs. 23,000
(c) Rs. 30,000 (d) Rs. 34,500

91.

92.

93.

94.
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Directions (96-100): Study the bar diagram and ANSWERS
answer these questions.

] S 1.b) 2.(d) 3.(@ 4.0 5. (c)
Persons k.|IIed .|n mdustr.lal accident 6. (c) 7. (d) 8. (a) 9. (a) 10. (C)
[M Persons killed in coal mines 11. (b) 12. (c) 13. (c) 14. (b) 15. (c)
16. (@) 17.(c) 18.(a) 19.(c) 20.(c)

200 ' 21.(c) 22.(d) 23.(d) 24.(c) 25.(d)

_ ) ) ) ; )
#1000 26.(a) 27.(c) 28.(d) 29.(d) 30.(d)
8 g00 800 31.(c) 32.(c) 33.(c) 34.(c) 35.(b)
8 8oe 36.(d) 37.() 38.() 39.(a) 40.(a)
5 600 41.(d) 42.(a) 43.(b) 44.(d) 45.(a)
5 s 46.(c) 47.(2) 48.(a) 49.(a) 50.(c)
300 Z 51.(a) 52.() 53.(c) 54.(d) B55.(b)

200 200

200 150 56. (3) 57.(c) 58.(d) 59.(d) 60. (b)
m Hﬂ . . 61.(a) 62.(c) 63.(a) 64.(a) 65.(c)
2006 2007 2008 2008 66.() 67.() 68.(b) 69.() 70.(a)
96. The number of persons killed in coal mines 71.(b) 72.(c) 73.(b) 74.(a) 75.(c)

in 2006 was what per cent of those killed in 76.(c) 77.(d) 78.(b) 79.(b) 80. (a)
industrial accidents in that year ? 81.(d) 82.(c) 83.(c) 84.(a) 85.(d)
(a) 4 (b) 25 g 86.(d) 87.(c) 88.(d) 89.(d) 90.(d)
(c) 36 (d) 300 | 91.(a) 92.(c) 93.(b) 94.(d) 95.(d)
97. Inwhich year, minimum numbey of persons 96.(b) 97.(d) 98.(a) 99.(b) 100. (c)
were killed in industrial aceidents and coal

&
"

mines together? EXPLANATIONS
(a) 2006 . (b) 2007 ,
() 2008 ~(d) 2009 1. Number of men arranged in the form of a

square

98. Inwhich year, maximum number of persons
] = 6000 - 71 = 5929

were killed iniindustrial accidents other than

those killed in coal mines? 3 Numbe o me arrange i eac row
(a) 2006 ~ 4 (b) 2007 77
(© 2008 . (d) 2009 V5929 .

99. In which yea;s, minimum number of 2. Remainder
persons were Killed in coal mines other than 2
those killed inindustrial accidents?
(a) 2006 i (b) 2007 4
(c) 2008 | (d) 2009 10

100. In a year, on average, how many persons 1 53

1 werekilled in industrial accidents and coal
. 5 214

mines together ?
(@) 121.25 (b) 1212 0.75)3
(©F1212.5 d) 1000 4. % [(0.75) 075 1 1]
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_ (0.75° V(1 0.75)[(0.75)* V0.75, 1V1?]

190.75

_ (0.75)° V1° 9%(0.75)°
- 02

[@a=b)a + b+ 2 =a -b%]

Lt 1 10
T 19%0.75 0.5 25

5 x+y=12 @)
xy=35 (ii)
3 vy 11 12
xy y x 3
a
“h
1
542V V—=4 -« £
b | <
A
E & 32 -
5 u%;l AY Ellv2:4
£ 1 &, B 7
% % =
(%) < %) =0

W W
QN Y
4+
fnpy
N
([ -
_ =
—
- ™

7.;E&xv_l =3|
(
1
\ . 4
IJ X
No ,x3vi

. If0.1=1then, 0. =24

8g1v T~ (@@ T8
10 x3+ + 3x 3/7
x+1=7+1 8

& 15°, 1& 15 4
= V—l % x.;*xvzl .F't :
= 1\/§f %3\/5 1 . (--.
F
=33 %3v3=0 > {

and00 = he ,004=2b £
3 E‘pasin L (
»% Vb8
a, 2 I| av2b b, 2

|
v | aAve 1
— 3.3 ==-=0.125

5 2% 3x2+
5 (13 23
x. £ 2

541

xV—

softhe surds=LCM of 2, 3,
5and 7 =210

105

1 1
52 = 5210 = 1 1052F0
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o ) = 204000
43 = 4210 = W00 30x =2 4 000 - 180 000 . A
240000
1 @ 1 :
35 =510 = 22 10 , 24;)000 . .,r’r.
[
LR 1.1 a articleisold oBa x%proft/ os nd
37 =3210 = [3*%0 sells thes me to C aty% pro it/loss, then
3 4he largest number CECE ) f
1 4 s1006 ks &,006 Y5
=5=45 = " CP 100+ b T00 4
13. Exp ession /{3 A’s CP‘—C’s CP
= J(13.608)2 %( 3.392)* [ 1100 .19& 100
1 "5 00 %10+
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